SUSPENSION KITS

KIT SOSPENSIONI

Q.TY
1

1

2

BFA CODE
C91002A

C92036A
C44003A

C94007A

Q.TY BFA CODE

2

2

2

C91001A
C92036A
C94009A

C97001A

4D [
[ ———=—"]

Q.TY BFA CODE

2

2

2

4

C91080A

C94043A

C92036A

C94034A

C44011A

Rev. O - Issued Feb. 2019

> ©

K09002A

service

SMT EQUALIZER KIT - for one equalizer
KIT SOSPENSIONE SMT (PERNO + SILENTBLOCK) - per un bilanciere

Suitable for SMT series suspensions

DESCRIPTION
SMT EQUALISER PIN

DUMPER NUT M24x3
SMT EQUALISER BUSH

SMT EQUALISER WASHER

K09006A

EQUALIZER KIT

DESCRIZIONE
PERNO BILANCIERE SMT

DADO AB M24x3 H24
BOCCOLA ELASTICA PER BILANCIERE SMT

RONDELLA PERNO BILANCIERE SMT

KIT PERNI E SILENTBLOCK PER TIRANTE SMT

Suitable for SMT series suspensions

DESCRIPTION
TORQUE ARM PIN

DUMPER NUT M24x3
SMT TORQUE ARM WASHER

SMT SILENTBLOCK

K09003A

DESCRIZIONE
PERNO TIRANTE SMT

DADO AB M24x3 H24
RONDELLA PERNO TIRANTE SMT

BOCCOLA ELASTICA TIRANTE SMT

REINF. CS SILENTBLOCK KIT - for one axle
KIT SILENTBLOCK CS RINFORZATO - per un assale

Suitable for SL/CS series suspensions

DESCRIPTION
BOLT FIXING CS LIFT

DAMPER & U BOLT WASHER
DAMPER NUT M24x3
CS9 PIVOT WEAR WASHER

CS SILENTBLOCK

DESCRIZIONE
PERNO FISSAGGIO SOLLEVATORE CS M24x3x195

10.9
RONDELLA INDURITA M24

DADO AB M24x3 H24
RONDELLA REGGISPINTA SOSP. CS

BOCCOLA ELASTICA RINFORZATA PER SOSP. CS

1/2



SUSPENSION KITS
KIT SOSPENSIONI

b
Op

service

K09005A

ANCHOR PIN + SILENTBLOCK + WASHER KIT
KIT PERNO + SILENTBLOCK + RONDELLA DADO PER TIRANTE

Suitable for SMT series suspensions

Q.TY BFA CODE DESCRIPTION DESCRIZIONE
2 C97001A SMT SILENTBLOCK BOCCOLA ELASTICA TIRANTE SMT
1 C94009A SMT TORQUE ARM WASHER RONDELLA PERNO TIRANTE SMT
1 C91001A TORQUE ARM PIN PERNO TIRANTE SMT
1 C92036A DUMPER NUT M24 DADO AB M24x3 H24

@ e KO09015A
@ AIRSPRING KIT
Q KIT AIRSPRING

Suitable for air suspensions

Q.TY BFA CODE DESCRIPTION DESCRIZIONE
2 C92009A NUT M12x1.75 DADO AB M12x1.75
2 C91072A SCREW M12x1.75x55 VITE M12x1.75x55
2 C94047A WASHER RONDELLA M12 ZN

Rev. O - Issued Feb. 2019 2/2



